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SECTION A (40 marks)
1. Write the following acronyms in full
(2 marks)

(a) ROM
Read Only Memory
(b) RAM (with reference to memory)

Read Access Memory

(c) EBCDIC

Extended Binary Coded Decimal Interchange Code

2. Explain three types of errors that are likely to exist in a program
(3 marks)

· Logical-When the grammar of a programming Language is not followed/violated

· Logical error-The program run but gives wrong results

· Runtime error-Abnormal/unexpected stoppage at the time of running/execution of a program

3. (a) What do you understand by the term biometric authentication
(1 mark)

Is a security feature that relies on unique human features
(b)Give two examples of such authentication
(2 marks)

Fingerprints

Iris or arrangement of facial features

4. A Chief Executive Officer of a company opted to order for computers for his organization. Two Companies wished to win the contract of the supplying the computer. Company A computers had the following Specifications: 120 GB HDD, 3 GB RAM, 2.1 GHZ CPU. Company B had the following specifications: 240 MB HDD, 6 MB RAM, 4.2 KHZ CPU. The two companies offer the same price for the computers.

a) Which should be granted the supply contract?
(1marks)
Company A

b) State three reasons for making the decision on the company to win the contract in (a)

above
(3 marks)
Hard disk of Company A computer has more storage capacity than that Company B The memory capacity of company A is more than that of company B specification The processor speed of the company A is higher than that if Company B

5. Differentiate between merging cells and splitting cell in a table when using word processors

(2 marks)

Merging cells is joining two or more cells to become one while splitting cells is dividing one cell into many cells.

6. The following computer component were displayed to form compter students during a practical lesson.
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Figure 1
Figure 2

a) Identify the components in Figure 1 and Figure 2 above.
(2
marks)

Figure 1-Main memory/RAM

Figure 2- Processor/microprocessor/CPU

b) Explain how each of the components identified influence on the capabality of a computer. (2 marks) 
RAM: The higher the memory capacity of RAM the high the processing speed of the computer because high RAM storage enables the computer the process many/large application program

Processor: High processing speed lead computers being faster because the higher the clock speed the higher faster the computer

7. List four examples of web browsers
(2 marks)

Mozilla fire fox

Internet explorer

Netscape navigator

Opera min

Chrome

8. Differentiate between working storage and auxiliary storage
(2 marks)
Working storage store data and instructions currently needed by the cpu while auxiliary storage provide long term/permanent storage of data

Working storage is directly accessed by the cpu while auxiliary storage is accessed indirectly by the cpu
9. Figure 3 below shows a removable storage media. Use it to answer the questions that follow.
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Figure 3

a) Identify the storage media above
(2 marks)
Magnetic tape

b) Explain two disadvantages of using the storage media above
(2 marks)

· Slow because of it near storage of data records on the tape

· Results to wastage of storage space because of the inter-record gaps(IRG)

10. One of the ways of managing disks is through scanning for viruses

a. What do you understand by the term virus in this context
(1 mark)
A destructive program that attaches itself on removable drives and causes damage to a computer system e.g. deleting files

b. Highlight six characteristics a computers that has been infected by a virus (3marks)

· Slow

· Loss of data

· Loss of memory storage

· Alerts/warnings/error messages

· Opening and closing of drives

· Hanging

c. State two functions an anti-virus program
(2 marks)

· Scanning for viruses

· Deleting for virus

· Quarantining files

· Preventing malicious programs

11. The following worksheet represents the no of stems of various types of flowers exported in Ken Flower Ltd.

	
	A
	B
	C
	D
	E

	1
	Month
	Roses
	Lilies
	Scab
	

	2
	Jan
	70
	80
	65
	

	3
	Feb
	120
	62
	75
	

	4
	Mar
	110
	65
	45
	

	5
	Apr
	70
	45
	60
	

	6
	
	
	
	
	


The cost of each stem from the farmer is Kshs 25. This amount is typed in cell B10.

(a) Write a function that will calculate the total number of stems of all the types of flowers in all months (2 marks)

= Sum (B2:D5)

(b) Write a formula that can be typed in cell E2 and then be copied down to obtain monthly purchases for Roses. (2 marks)

= $B$10 * B2

(c) Identify the data type in cell C1 and cell D3. (2 marks) C1 – Label D3 - Value

12. Name the two types of coaxial cables
(1 mark)

· Thick net

· Thinnet

13. List four internet protocol    (2marks)

TCP/IP

http ftp smtp

14. Use figures below to answers the questions that follow
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Figure 5

Identify the network topologies in Figure 4 and Figure 5 above

Figure 1: Mesh topology

Figure 2: Bus topology

Explain why it is beneficial to use the topology in Figure 4 above
	(1 mark)

(2 mark)


· If one of the cable/node breaks the other workstations will still continues communicating

· The network is reliable

· Point to point connections optimize throughput of data

15. Distinguish between Optical scanners and Magnetic ink scanners.
(2mks)

- Optical scanners capture data using optical or light technology, while 

   magnetic ink scanner is used to capture data written using magnetic ink 

    or coded onto a magnetic strip.

SECTION B

16. a) State the three basic types of program control structures. (3 marks)
-Sequence. -Selection.
- Iteration (looping)
b) Draw a flowchart which will simulate the processing of Student's report. The simulation should be such that the user repeatedly inputs marks per subject for eight subjects using a looping control structure. The computer processes the total marks and mean score of the student.
Note. 1. It is assumed that the student does eight subjects.

2. The outputs required are; Average score and Total marks. (7 marks)
AverageMark=TotalMark/COUNT

c) Construct a pseudo code for the above flowchart.
(5 marks)

BEGIN

READ Student’s Name

FOR COUNT= 1 TO 8 DO

READ Mark

TotalMark=TotalMark+Mark

END FOR or NEXT COUNT

AverageMark=TotalMark/COUNT

PRINT Name

PRINT AverageMark

PRINT TotalMark

END

N/B:ONE CAN ALSO USE REPEAT....UNTIL or WHILE...DO LOOPS

17. a) Distinguish between the following types of database models.
(6 marks)

i. Network database:
It allows a data element (or record) to be related to more than one other data element/record. Links are used to express the relationship between different data items forming a network of items.

ii. Relational database: Related data items are stored or organized together in structures called relations or tables. Each table consists of rows and columns.

iii. Hierarchical database: The data items are organized in hierarchical (tree-like) structure. The records are stored in multiple levels, where units further down the system are subordinate to the ones above

(b) Explain the following terms as used in system implementation
( 4 mks)
(i) parallel running

This is where both the existing and the new systems are run concurrently/simultaneously (at the same time) for a period of time until users have gained confidence in the new system. Data is processed on both systems in order to compare their performance, and also cross check the results.

ii) Direct change over

This is a complete replacement of the existing system with the new system in one bold move. The existing system is stopped & abandoned and the new system starts operating immediately.

(c) i) Make a clear difference between Log file and Firewall.
(2mks)


Log file – Special system files that keep a record of events on use of the computer 

    and resources of information system.


Firewall – Device or software system that files the data and information exchanged 

     between different networks by enforcing the host network access.

ii)
Name two control measures which can be put in place to control threat to Data security 
(3mks)


- Anti-virus software


- Password


- User access levels


- Back up 

18. (a) (a) Differentiate between a modern and a multiplexer




(2mks)


- A multiplexer enables sending of multiple data signals over the same medium, either 
simultaneously or at different times


- A modern converts a digital signal to analogue form so that it can be transmitted over analogue 
telephone lines.

 (b) List FOUR file organization methods (2marks)

· Sequential

· Random or Direct file organization

· Serial

· Indexed-sequential

(c) Name and explain three level of programming languages (4 1/2 marks)

· Machine Languages

· This is the lowest level language that uses binary logic to write the instructions

· Assembly languages

· The language allows programming instructions to be written using a set of symbolic operation codes called mnemonics.

· High Level languages

· The language are very close to human language (English like) and they can be read and

understood even by people who are not experts in programming.

The languages are machine independent i.e a programmer concentrates on problem solving

rather than how a machine operates.

(d) What are the characteristics of a user-friendly program? (3marks)

· Enables the users to make use of Pointer/Pointing devices

· They have menus which contains various commands

· They have ICONS representation

· Applications are run in a rectangular frame (Window)

(e) What is the work of a system analyst (2 1/2 marks)

· Co-coordinating training for users of the new system

· Working with programmers to construct and test the system

· Reviewing the current manual or redundant information system and making recommendations on how to replace it with a more efficient one.

(f) Name data types supported by a spreadsheet and give four examples of spread sheet software (3 marks)

· Labels

· Values

· Formulae

· Functions

Examples: Ms Excel, Open Office Calc, Lotus 1-2-3 and Quattro Pro. 19. a) i) Satellite ( l mark)

ii)
A — satellite in space

B- Downlink

C- Uplink

D- Receiving earth station

iii)
-Eliminates the need to keep on moving the parabolic dish in a bid to track the

line of sight.

- It offers a large constant line of sight to earth stations

- The satellites transmit the signal to many recipient earth stations forming a point-to multipoint transmission.

b) i)LAN - Local area network is a computer network that spans a relatively small geographical areas like in one building or a school. Usually owned by an organization

(l mark)

ii) MAN- Metropolitan area network is a network that covers a medium -size geographical area like a town or a city

- They cover a radius of approximately 10km and have data rates of 100mbps (l mark)

iii) WAN - Wide area networks cover unlimited geographical areas e.g. across states, entire country or the whole world.

Consists of many LANS and MANS connected together (l mark)

c) i) A hub also called a concentrator connects computers on a network enabling the relay of signals from one computer to another on the same network.

a. A switch forwards a packet directly to the address node (a data terminal equipment e.g.work station) without broad casting.

20. ( a)(i) What is the hexadecimal equivalent of 6768
(2 Marks)

6 -110

7 -111

6 -110

1 1011 1110 =
1 B E 16

(ii) Use one’s compliment to solve the following sum: - 12+25
(2 Marks)

12= 1100
25= 11001 show your workings

=00001100
= 00011001 in 8bits

1’s complement=11110011
11110011

+ 00011001 
(1)00001100

+
1 


000001101
=
13

(iii) Convert 34.17510 to its binary equivalent.
(2 Marks)
34=100010

0.175x2=0.350
0.350x2=0.70 0.70x2=1.4 0.4x2=0.8
0.8x2=1.6
0.6x2=1.2
Therefore 34.175= 100010.001011

(b) Using six bits find the two’s complement representation of -2710
(5 marks)

27=11011
6 bits= 011011

2’s complement= 1’s complement 100100 +1=100101

(c) Find the difference in the following binary numbers;
(4 marks)

(i) 111011-10001

    
    1010102 ans         (show working)
(ii) 100011.101-1001.10

11010.0012 ans         ( show working)
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